Name:

UNit 7 StudY Guide
Multiply the following expressions.
1. X+ 12)X-12) 2. (3x — 2)(3X +2)
XZ4+1 2% _v2x A ok Ax* 4
X2k
3. (X +6)? 4. (2x - 5)?
XEHI2X+ 3o A= 20K +25

Solve each factored expression for x (hint — Think ZPP):

5 2x(x-=7)=0 6. (x+1)(x—-10)=0
H=0 *-1=0 X+=0 X—10=0
X=0 x=7 ¥=-  X=10
7. (x-3)(x-8)=0 8. (1-2x)(x +12)=0
X=3 x=¢ -2x=0 x= -2
-2x= -
x="2

Factor out the GCF of each expression

9. 9a°+ 15a? 10. 10y? + 14y® -2y
30> BaZ 2y Zy 2y
30% (3a+57 2‘3 053 _,,739—_D
11. 18y +27 12. -5x + 25x* — 16x3
a 9 —9x-5X —5x

a(294+D) —By( |~ GyB+ x>




Name:

Solve.

13. xX*+2x-3=0
(x+2)x-1 D=0
X=-3 X=I|

15. x> —4x-5=0

(x-{-— | YX—5> =0

17. 6x* +5x=6
Ux*+ 5% —b =0
@x+ 38(/3;027 =0
ax

%

Ex
X=-32 X=2/z
19. 25x*—4=0

(5x+2)(6x—2> =0
by=-2
k=25 x=2/5

21. 18x° +24x* +8x=0
2% 2x 2x

I CQ)(Q“+-I&><+‘+3=O

2% (B + 2 [2x+=D
w=o X=-Zz *= '?/5

14. X*+3x-4=0
(x+(x— )=0
X= -4 x=|

16. 2x* —11x-21=0
(2% +3Y x-F) =0
U/
3x

—|4x
—1x

18. X*-3x—-28=0
(x= Nx+4u)=o0
X=7 X=-4

20. x> —2x+1=0
(x=N(x-D=0
X=| X=|

22. 8x*-18=0
2 =z

2(AxEa)=0

Q (ax£RYx=22= O



